
01 

04 

os 

06 

13 

14 

11 ---$3 

12 

15 
-�---�

16 

1 

07 
1 

\_ 1 _J 

-

c:J � 02

�

�08

10 

18 

NO. Component parts Quantity Material Size & spec SKU# Memo 

01 Handle 1 Zinc 

02 Cover 1 ABS 

03 Screw 1 SS M5X8 

04 Decorative ring 1 H59 M42Xl. 25 

05 Fixing Nut 1 H59 M42Xl. 25 

06 Cartridge 1 BS+CERAMI 

07 Body 1 H59 ei> 48X84

08 Rubber Cover 1 NBR 14.5X2 

09 Screw 1 SS M5X12 

10 Fast Fix 1 Zinc ei> 44X8 0

11 Screw 1 SS M3X5 

12 Spout 1 H62 4>48X194. 5 

13 Cartridge body 1 H59 ei> 48X41. 5

14 Antifrictin Ring 1 POM cp 46Xl. 2

15 Snap Ring 1 POM ei> 40X5

16 0-Ring 2 NBR ei> 43. 5X4 

17 Aerator set 1 H59+ABS M24Xl 

18 Inlet pipe 2 PEX+SS M10X1•500 

Quantity 1 Material H59 

Sku# 10137 Euroleon Kitchen Faucet Chrome 

Coating difference With 10137 

1 10138 Brushed Steel 

Designer Grana Team Drafting Date 1 June. 2007 

Copyright ©2007-2017 GRANA OY, All Rights Reserved 

90023

90292

90313

90351

90001

90008

90038

90278

90053

90070

90008

90071

90093

90029

90347

90004

90022

90357




